DA ED
DRSS
dgES 23

N & O &

20169 = =0 & LA O EItE Y

At

&

o

Al A

- _ _ RE]
M. (3H) - NSAY - BAS %Eﬁ HR=2
,020,322 30,524,713 1,495,609
= ,893,769
Jl 16,284
Al 9,756,256
- 2,354,013
S& 7,952,946 7,805,111 147,835
= 4,068,710
Jl 15,584
Al ,121,152
- 747,500
UHHE 23 At 494,651 430,859 63,792
= 139,625
J| 15,584
Al 213,222
- 126,220
Hd3E - ALA| 1,360 1,300 60
et d 1,360 1,300 60
01 At 2 1,360 1,300 60
ounlet 200,000 200
O2Z A} 500,000 23| 1,000
o8 80,000& *23] 160
ELUN | 8,820 7,820 1,000
bt d 3,820 2,820 1,000
A S 3,820 2,820 1,000
OYHBEFZ I e 1,420
o§l 40t 80,000& 40K 320
og|E 2,000 x3008 600
ocAHESRE H 100, 000& *5H 500
OWESHEZ =83
800,000 = 1CH 800
O XA S A Xt
800,000 1 CH 800
O XS AAT s XXt
800,000 1 CH 800
24l 2,800 2,800 0
24l 2,800 2,800 0
O sl FE2ID M2
2,800,000 2,800
et A= 2,200 2,200 0
SHALAIHI B AZ 2,200 2,200 0
OQHBST2 JEA ST LA
400,000 x2& 800
OYHBSTIU A SAS
500,000 x 1 500




AN GEIEY
Ba: otz=x 53
Sl FHTWS 25 Y CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
OWdgHHME2d =3 I 24
500,000& 500
OWETIASAME =83 L 24
400,000& 400
EMTZANE 90,000 90,000 0
301 gt d= 90,000 90,000 0
01 Ml28HE 6= 90,000 90,000 0
OsLZEAS KA 90,000
ocEMOt SE&MEAS 52,000,000& 52,000
oAITHOL S&EHS 38,000, 000& 38,000
CtAHH &t =0t 60,000 60,000 0
Al 60,000
301 LEtE A= 60,000 60,000 0
Al 60,000
01 MEI2EZE 405z 60,000 60,000 0
OUXH ELXAS 60,000,000& 60,000
Al 60,000
SIRZ2IOIE THHSFH XA 98,000 76,000 22,000
= 78,400
Al 19,600
301 et A= 98,000 76,000 22,000
= 78,400
Al 19,600
01 MEIBEE 263 98,000 76,000 22,000
Olts2=tHl,&. 08stE3Hl, FIHL=HS
98,000,000& 98,000
= 78,400
Al 19,600
2GR THEX& 1,000 1,050 A 50
= 800
Al 200
301 L2 A S 1,000 1,050 A50
= 800
Al 200
01 M3IBZE 063 1,000 1,050 A 50
OHAHEEIREZ Otls2 =l 1,000,000 1,000
= 800
Al 200
NASR 2UNHEXNE (5. 004 NEH|) 50,000 45,000 5,000
Al 50,000
301 LAz 50,000 45,000 5,000
Al 50,000
01 AR 2Z A 53 50,000 45,000 5,000
O - Duwd WsH| 50,000,000& 50,000

-2 -




A OIS

Ha: Jis=x 53
Sl YHBS 23 e (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 50,000
NASZ 2UNEXNE(=SEM &22H|) 3,000 3,000 0
Al 3,000
301 gt d= 3,000 3,000 0
Al 3,000
01 MEI2EZE 06z 3,000 3,000 0
Ox=sstd st23Hl 3,000,000& 3,000
Al 3,000
o - JtEEg $A 2 OoHA X 70,045 68,005 2,040
= 35,023
Al 35,022
307 glz2tol & 70,045 68,005 2,040
2 35,023
Al 35,022
05 RIZtE = 70,045 68,005 2,040
OJtg=gdga 29 70,045,000 70,045
2 35,023
Al 35,022
JIEEY Iloials ¥ HEYXAY 30,200 12,420 17,780
= 21,140
Al 9,060
307 21201 A 30,200 12,420 17,780
= 21,140
Al 9,060
11T AL S XA E = 30,200 12,420 17,780
OJNE=H Toioleg & HELX A
30,200,000& 30,200
= 21,140
Al 9,060
OSZALNA ESAE SAK HRMLH X 7,200 6,300 900
Al 5,400
- 1,800
307 21201 A 7,200 6,300 900
Al 5,400
T 1,800
11T MISRASEEX 7,200 6,300 900
OWMdE=EHINA ESAE SAK HRIHAHI
A& 150,000& »3ZH «12& 5,400
Al 5,400
ONEEZEG 4G A QA=A HRMHA
50,000 x3H » 128 1,800
Ot - HEAdXNSAN 2 7,200 7,200 0
= 3,600
Al 3,600
201 2et2 Y| 7,200 7,200 0
=2 3,600




A OIS

Ha: Jis=x 53
Sl YHBS 23 Y CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 3,600
01 At 22l 7,200 7,200 0
Os=2s 500& *1,00001 x4 2,000
= 1,000
Al 1,000
OXNGA slIAEFA =& 70,000 +10H *13] 700
= 350
Al 350
O+ 80,000& 80
= 40
Al 40
OJE - 45 g u=s 4,000,000& 4,000
= 2,000
Al 2,000
OZmel &It =&l 420,000& 420
=2 210
Al 210
KNAAE SXNSE AIMFA 2,500 2,500 0
203 YR =&t 2,500 2,500 0
03 Al =AY R4 2,500 2,500 0
OXGAtsl EXNSE AlMFA 2,500,000& 2,500
OtsOHgerd X9l 29843 1,324 1,082 242
=2 662
Al 662
201 Let249] 1,324 1,082 242
=2 662
Al 662
01 At 22l 1,324 1,082 242
OAMR T HE 2A=S (=LA, BEZ2AM S)
390,000 *2H A~ 780
= 390
Al 390
OOSEEXZAE ALXE M=
130,000 *20H 2~ 260
= 130
Al 130
OJIEt =&l 142,000& 20K & 284
= 142
Al 142
SR EANEH R SH XA 20,000 20,000 0
Al 20,000
301 et 8= 20,000 20,000 0
Al 20,000
01 MEIBZE 06z 20,000 20,000 0
OR2IIE IHH =S 20,000,000& 20,000
Al 20,000
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2N

Ba: otz=x 53
Sl BEAE B4 (B9 ®R)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 60,500 60,500 0
10 AL SXAIEEE 2 H EX 60,500 60,500 0
oogold . ety X 15,500, 000& 15,500
oogold gadsad X3 45,000,000 45,000
012101 At&CH3l JH = 1,215 1,320 A 105
201 Let249] 1,215 1,320 A 105
01 At 2teltl 1,215 1,320 A 105
OdAMRE =Y 150, 000& »2H 300
O&d M= 16,500& 30 495
Og=% 60,0003 2 & 120
OJlet 2EES 300,000& 300
FHZANE 29 2,400 2,400 0
307 glz2+ol & 2,400 2,400 0
05 Rzt E = 2,400 2,400 0
O A& 2l 200,000 122 2,400
ESLAI 1223 29 1,711 1,718 AT
201 LEr2 Y| 611 618 N
01 At 2teltl 611 618 AT
Og=+=% 60,0003 +x3& 180
OE=ER2 Wi E&8% 16,500 79X »23| 231
O2YES 200,000& 200
301 gt d= 1,100 1,100 0
1MIIEBESS 1,100 1,100 0
OESWA BE2E 2AME 1,100
cRlduNE ZAE 300,000& x2H +13] 600
cEZEAHE 250,000 28! 13| 500
R0t E2 A& 2,852,000 2,850,793 1,207
= 2,139,000
Al 499,100
T 213,900
307 glz2tol & 2,852,000 2,850,793 1,207
= 2,139,000
Al 499,100
- 213,900
05 RIZHRI & 3 2,852,000 2,850,793 1,207
OgmwitE2ss 2,852,000
o0~2M 82 2,852,000, 000& 2,852,000
= 2,139,000
Al 499,100
T 213,900
Sl 282 K& 1,639,731 1,639,731 0




A OIS
X

M. ==
S = =

= _ — d =
A ZE a9 (3) - HRAY - BYS Ol &t o e
Al 1,639,731
307 glz2tol & 1,639,731 1,639,731
Al 1,639,731
05 RIZHRIE 3 1,639,731 1,639,731
OFcItd ESE 1,639,731,000& 1,639,731
Al 1,639,731
gold EsnAA oAl N 1,233,108 1,233,108
= 739,865
Al 345,270
- 147,973
307 21201 A 1,233,108 1,233,108
= 739,865
Al 345,270
- 147,973
10 ALSISXAIEEE2IHEX 1,233,108 1,233,108
O0gold EsuA@ el
1,233,108,000& 1,233,108
= 739,865
Al 345,270
- 147,973
ggssg I 1,192,921 1,192,921
= 894,861
Al 208,761
T 89,299
301 et a = 1,192,921 1,192,921
= 894,861
Al 208,761
T 89,299
01 MEIBEE 263 1,192,921 1,192,921
oingegs =g 1,192,921,000& 1,192,921
= 894,861
Al 208,761
- 89,299
2P0l wiw+dl X& 4,797 4,797
= 2,879
Al 1,343
- 575
307 gl2tol & 4,797 4,797
= 2,879
Al 1,343
- 575
10 AL SXNAIEEE2EHEX 4,797 4,797
OQZ2tME0lE wiHwFHl 4,797,000 4,797
= 2,879
Al 1,343
- 575
HEgoelod HeE2atl 2,400 2,400




A OIS
X

M IIE=EX &
Sel BRAE Y
S HD B (SH) - NRAY - BAS O 4t o8 il
= T.240
Al 672
- 288
307 912+0| M 2,400 2,400
- 1,440
Al 672
- 288
10 Al SEXAIEEE2IHIBX 2,400 2,400
OHMNAMEYE HE0ld XEF2HH| 2,400,000& 2,400
2 1,440
Al 672
- 288
012t - JIEMe0ld Exndd X" & 66,000 66,000
Al 66,000
307 212t0| & 66,000 66,000
Al 66,000
10 AIRISEXAIEEHE2IHIEX 66,000 66,000
Ool2t - JIENE0d EKDA SAxE
66,000,000 66,000
Al 66,000
TIIoIE Elold ExnA 3244 29,000 29,000
Al 29,000
307 212t0| & 29,000 29,000
Al 29,000
10 Al SEXAIEHE2IHIBX 29,000 29,000
OZIIESHE0IE BEsUA A2
29,000, 000& 29,000
Al 29,000
el old s&stsd & S AHl X & 10,000 10,000
Al 10,000
307 QI2t01 ™ 10,000 10,000
Al 10,000
10 Al SXAIEEE2IHIBX 10,000 10,000
Ol sd&sts L 23 AHl X3
10,000, 000& 10,000
Al 10,000
HEXNE Helold W 2H XS 6,000 6,000
Al 6,000
307 @12+0| & 6,000 6,000
Al 6,000
10 Al SEXAIEEE2IHIEX 6,000 6,000
OFEXNH Helold Wi+l 6,000,000 6,000
Al 6,000
HeXe oRold HEegy XY 2,700 2,700
Al 2,700




M 08I S
Ha: ==X B3
Ce: BEx4F SHA (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
307 QI2t0| & 2,700 2,700 0
Al 2,700
10 AR SXAIEEE2IHIEX 2,700 2,700 0
OFEXNE ol Y| 2,700,000 2,700
Al 2,700
H&O0or gt: 212 X 1,224 1,224 0
Al 1,077
= 147
307 QI2t01 & 1,224 1,224 0
Al 1,077
- 147
10 AISISEXAIEHE2IHIBX 1,224 1,224 0
Odl&oor gt €3 XA 1,224 ,000& 1,224
Al 1,077
- 147
SSDA 2R NA 204,678 170,478 34,200
= 85,120
Al 39,722
- 79,836
307 212t0| & 204,678 170,478 34,200
= 85,120
Al 39,722
- 79,836
10 Al SXAIEEE2IHIEX 204,678 170,478 34,200
BFNAF 2FSFNEH] 136,278,000& 136,278
= 85,120
Al 39,722
- 11,436
OBEFWAI HRIMAH| 1149 +50,000& x 122 68,400
ZOUNEORIO0IE ERDA S+22+LYNE 21,600 21,600 0
Al 21,600
307 212t0| & 21,600 21,600 0
Al 21,600
10 AIRIEXAIEEHE2IGHIEX 21,600 21,600 0
OZNHLORIO0E HEDA S422 +¢
21,600,000 21,600
Al 21,600
OF2HOIRI0IE B2lAZ 29 150 150 0
Al 150
307 212t0| & 150 150 0
Al 150
10 Al SEXAIEHE2IHIEX 150 150 0
oot elold 2elAa=2 289 150,000& 150
Al 150
OHOIAIE 22 SUHZH 29 3,932 3,932 0




M 08I S
Ha: ==X B3
Sl BEAE B4 (B9 ®R)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= 1,966
Al 983
- 983
301 LEtE A= 3,932 3,932 0
= 1,966
Al 983
- 983
11 JIEIE A= 3,932 3,932 0
OO00IAIE B2 2LIHE S 3,932,000 3,932
= 1,966
Al 983
- 983
228 Helold 291 67,800 67,800 0
= 40,680
Al 18,984
5 8,136
307 QI2t0| & 67,800 67,800 0
= 40,680
Al 18,984
5 8,136
10 Al EXANEEHE2IGH EX 67,800 67,800 0
O2=28 ol X 67,800,000 67,800
= 40,680
Al 18,984
- 8,136
AMZUAXNSEESAIEAIS 46,548 0 46,548
= 23,274
Al 11,637
- 11,637
307 2Iz2t0| A 46,548 0 46,548
= 23,274
Al 11,637
- 11,637
05 QIZ2tR EF 2 46,548 0 46,548
OANMZUAXNESEE=SAIEAIY 46,548,000 46,548
= 23,274
Al 11,637
- 11,637
HENAES JUEs2 A 5,200 0 5,200
Al 5,200
307 gizto| A 5,200 0 5,200
Al 5,200
05 QIZtRES 5,200 0 5,200
OHENASESRE X2 XA 5,200,000 5,200
Al 5,200
co=Exsd 19,886,476 18,677,116 1,209, 360
= 13,728,105




M 08I ED
By Lo=xEd
el OFHO LEAS PE (B9 ®R)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 4,848,757
T 1,309,614
HEAQ 245 B 15,868,920 15,133,548 735,372
= 12,640,000
Al 2,595,000
T 633,920
PN XA 67,000 59,100 7,900
Al 67,000
301 et d=s 67,000 59,100 7,900
Al 67,000
01 MEI2EZE+06l= 67,000 59,100 7,900
QoSN YEIZS N
50,0003 670 *23| 67,000
Al 67,000
MAas oA AZ2E28s N&E 1,920 2,448 2528
301 et A3 1,920 2,448 A 528
01 MI2ZHE +06l= 1,920 2,448 A 528
ONMAS LONN A2 . FJNLEE= N
4,000 ~40H 1204 2 1,920
x4z 15,800,000 15,000, 000 800,000
= 12,640,000
Al 2,528,000
- 632,000
301 et A3z 15,800,000 15,000, 000 800,000
= 12,640,000
Al 2,528,000
- 632,000
01 Ml28E 6= 15,800,000 15,000,000 800,000
OJI=H3 15,800,000, 000& 15,800,000
= 12,640,000
Al 2,528,000
T 632,000
d2otn BEsd=s tME BF 703,542 587,258 116,284
= 278,677
Al 293,365
T 131,500
MASTHIH =@l AAMEHE 88,570 83,340 5,230
Al 88,570
307 glz2tol & 88,570 83,340 5,230
Al 88,570
11T M SXALSE EX 88,570 83,340 5,230
OH*:XH Fool ALAH BHE
AlE+68,570,000& +& Bt &20,000, 000& 88,570
Al 88,570
FZ2AE RE3AAY 78,658 72,770 5,888




2N

Hu: Los=
2

Chel AU D BEYE LSME YR (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 78,658
307 glz2tol & 78,658 72,770 5,888
Al 78,658
11T M SXAISE EX 78,658 72,770 5,888
OZ2AY S SAAY 78,658,000& 78,658
Al 78,658
LOSE NHIA A 381,350 409,965 A 28,615
= 266,945
Al 114,405
307 21201 A 381,350 409,965 A28,615
= 266,945
Al 114,405
11T MISXASEX 381,350 409,965 228,615
OkelsslleMtdl s At 175,000, 0003 175,000
= 122,500
Al 52,500
O ESSEEAMEIA A 200,000, 000& 200,000
= 140,000
Al 60,000
OEIIJLAFM Bl A 6,350,000 6,350
= 4,445
Al 1,905
LOIIIAIE &S 131,500 0 131,500
405 XtaHE SHI 131,500 0 131,500
01 AR ESFH S 131,500 0 131,500
O%=zZ2o & e 130,000, 000& 130,000
ORUZH(2E+==2 ) 1,500,000& 1,500
SNHCQSIURER0 MY 23,464 21,183 2,281
= 11,732
Al 11,732
307 21201 A 23,464 21,183 2,281
= 11,732
Al 11,732
11T MISRASEX 23,464 21,183 2,281
O=Hke S S20l AFY 23,464,000 23,464
= 11,732
Al 11,732
oD B RN XA 270,754 2,913,050 357,704
= 770,494
Al ,956,066
- 544,194
B2 A XA 9,425 9,425 0
201 Let24d] 3,725 3,725 0
03 #AF2 I 3,725 3,725 0




AN GEIEY
By Lo=xEd
oheln oHEoL) ED|E Le2da)|e =4 (=& J)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O100A ABI =X ZZ2 A 2,525
od =g 80,0003 »2H 160
ocRIES ¥ OIHE 2,200,000& 2,200
oltolo & 2 AR & JIEA R Al
& 16,5002 10 165
OB AL Xt 400,000& +30H 1,200
301 LBt A 5,700 5,700 0
09 A HIE &S 5,700 5,700 0
O100AI ABIEX ZZ2 A 5,000
ocXFEEH 300,000& »4& 1,200
o At3 XHE & 300,000& »1H 300
oAl EAL EYE B4 5,000& *500H 2,500
oW =M FINY L4 AL
20,000& 50 1,000
Okl A 7,000& *100H 700
C Ol ALY 1,512,208 1,167,560 344,648
= 756,104
Al 756,104
307 gl2tol & 1,512,208 1,167,560 344,648
= 756,104
Al 756,104
05 BIZHRI & 3 1,512,208 0 1,512,208
OLolgdXtel At (A Ald =2t)
1,512,208,000& 1,512,208
= 756,104
Al 756,104
Lol 29 49,800 57,900 A 8,100
307 21201 A 49,800 45,000 4,800
10 AL SXNAIEEE2EHEX 45,000 45,000 0
OUst s =Z32 K& SXAY XA 45,000
ot elaEFXNE 2
2,250,000& x12& 27,000
oL ASAMY 2EXNA(ARSEH)
1,500,000& = 12& 18,000
11T MRS EX 4,800 0 4,800
Olfgt-elslE2Xs 228 29H X&
400,000& x12& 4,800
Co=xg 2y 883,080 842,880 40,200
Al 611,580
T 271,500
307 izl & 883,080 842,880 40,200
Al 611,580
- 271,500
10 AL SXAIEEE 2 H EX 883,080 607,872 275,208




M 8 EH
By Lo=xEd
S MG EI|I& ESMED|IE XY ?HA)
- - . RE!
SAH-EB. S (3H) - HEAY - BE2 e 2
OLo=2X2& 29| 474,000,000& 474,000
Al 331,800
- 142,200
orosia &3 slx¢ 28,800,000& 28,800
Al 28,800
Ookosxa 22 23| 339,000,000 339,000
Al 237,300
- 101,700
orosia 22 2 skl
13,680,000& 13,680
Al 13,680
OLI2ZAMI S XA 2
100, 000& »23H * 120 & 27,600
dg 29 & 92,417 93,450 A 1,033
Al 46,160
- 46,257
307 212t0| & 88,817 88,950 AN 133
Al 46,160
- 42,657
10 MBI SXAIEEE2IHIEX 88,817 88,950 AN 133
Odzo & 29 N& 88,817
o249l 64,960,000& 64,960
Al 28,800
- 36,160
o LhetH| 23,857,000& 23,857
Al 17,360
- 6,497
405 XHabF SHI 3,600 4,500 A 900
01 A&t = S F St 3,600 4,500 A 900
Ofzod TVE NMXHMS 3,600,000& 3,600
=HFE JZ2Y & 3,750 3,725 25
Al 750
- 3,000
301 dEtEAZ 3,750 3,725 25
Al 750
- 3,000
01 AL B & & 2352 3,750 3,725 25
OY&E(d =47 )32 XS 3,750,000 3,750
Al 750
- 3,000
2RUEIT20Y 22T I A 25,830 25,830 0
Al 12,915
- 12,915
307 QI2t0| M 25,830 25,830 0
Al 12,915
- 12,915




2N

X{ XH -
S =

Ehel ot EJ|& =MEIBt =4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 AL SXNAIEEE2EH EX 25,830 25,830 0
OZzges Tz 22l WX AY
25,830,000& 25,830
Al 12,915
T 12,915
FE2EEH5AY 20,000 20,000 0
Al 20,000
307 gl2tol & 20,000 20,000 0
Al 20,000
10 AL SXAIEEE2EH EX 20,000 20,000 0
OZ2Y E4d3AY 5,000,000& 4= | 20,000
Al 20,000
MOt el =X ALY 253,410 220,200 33,210
Al 251,010
T 2,400
307 glz2+ol & 253,410 220,200 33,210
Al 251,010
T 2,400
11T MISAASEX 253,410 220,200 33,210
O Mot XN & Al AdH 83,670,000 83,670
Al 83,670
OS2 d=R4H 83,670,000& 83,670
Al 83,670
OLggLo=XdH 83,670,000 83,670
Al 83,670
OFRL=SNME AABZXA H2HA
50,0003 »4H » 12 2,400
Z22Y SEJ| gl X 43,500 45,000 A 1,500
= 11,145
Al 25,830
- 6,525
307 21201 A 43,500 45,000 A 1,500
= 11,145
Al 25,830
- 6,525
10 ALSISXAIEEE2IHEX 43,500 45,000 A 1,500
OZ2Y SHJ S Uy X
290,000 *30H 2~ 501 & 43,500
= 11,145
Al 25,830
- 6,525
Z2Y S3ME A 99,840 133,800 A 33,960
Al 3,000
- 96,840
401 AIEHI L 20 99,840 133,800 233,960
Al 3,000




AN GEIEY
Mo LoI=XEX
oheln oHEoL) ED|E Le2da)|e =4 (=& J)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- 96,840
01 A& HI 99,840 133,800 A 33,960
OZg2Y 2#3Id L Jf - B4 99,840,000& 99,840
Al 3,000
- 96,840
I2E FRAIANAAMNY 9,894 9,720 174
= 2,120
Al 6,517
- 1,257
307 21201 A 9,894 9,720 174
= 2,120
Al 6,517
- 1,257
10 ALSISXAIEEE2IHEX 9,894 9,720 174
OZ2g FRLZXE 47,1103 *3000 & +7& 9,894
= 2,120
Al 6,517
T 1,257
F2Y XA 4,500 3,000 1,500
= 1,125
Al 2,700
T 675
307 gl2tol & 4,500 3,000 1,500
= 1,125
Al 2,700
- 675
10 AL SXAIEEE2EH EX 4,500 3,000 1,500
OF2Y 6tBI| SE W X
75,0003 »2& «304 & 4,500
= 1,125
Al 2,700
T 675
ALIGEE 29 242,600 230,560 12,040
Al 205,100
- 37,500
307 gl2tol & 242,600 230,560 12,040
Al 205,100
- 37,500
10 ALl SXAIEEE2EH EX 242,600 162,712 79,888
OAlLIoIZ2Y 2¢ 230,000, 000& 230,000
Al 195,500
- 34,500
OBAX SX=¢ 9,600,000 9,600
Al 9,600
OSFAULNEY QLA S XIAF MR &HI
50,000& x5 12 3,000
LB =EXNAE SAL S+ 15,000 0 15,000




AN &8Iz
Hu: Lo=XEA
CHel: OHMGHD DI 2 ME)|g 24 )
- _ _ RE]
SA BB (3H) - NRAY - B %Ei 2t
Al 14,400
- 600
307 2iz2to| A 15,000 0 15,000
Al 14,400
- 600
11T AISIEXAIEEX 15,000 0 15,000
OLQoSE2X AL SAA E2XN%E
30,000 x40 1200 & 14,400
Al 14,400
OORIZEABIE XA HRMHHA
50,0003 1« 1201 & 600
SAD AR 22 5,500 0 5,500
201 Bt 1,000 0 1,000
01 AP 22| H| 1,000 0 1,000
O2dD AMX 202 1,000, 000& *13] 1,000
301 et A= 4,500 0 4,500
01 Al B & A 462 4,500 0 4,500
OF9HD AHEX &2olt] 750,000 6+ 4,500
AES MEOHFIH 43,260 43,260 0]
= 38,934
Al 4,326
MHAZAH(AIA) 43,260 43,260 0
= 38,934
Al 4,326
307 QI2t0| & 43,260 43,260 0
= 38,934
Al 4,326
10 A EXNANEEHE2IH EX 43,260 43,260 0
OMABH(AA) 43,260,000& 43,260
= 38,934
Al 4,326
ols, 8449 25 4 1,584,124 1,554,840 29,284
= 638,295
J| 700
Al 740,062
- 205,067
Ol=EX &4 1,244,786 1,228,640 16, 146
= 531,025
Al 637,007
- 76,754
oOrs=EX A 3,400 3,400 0
201 et 1,400 1,400 0
01 AF 22| H| 1,400 1,400 0
OllsZ2ARI|3 A4S 70,000 «8H *13] 560
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AR GRS =
=

. Ots, 3449 B85 4
S OlsSS X sa (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
SNEENFEEEEIEEEE
70,000 *6H *23| 840
401 Al HI L 2 0HHI 2,000 2,000 0
01 Al&H| 2,000 2,000 0
O0el0l=0lAld =0lJ]F &HI 2,000,000 2,000
N AE LA 52,200 50,400 1,800
Al 52,200
301 et A= 52,200 50,400 1,800
Al 52,200
01 M EEE G2 52,200 50,400 1,800
OJNE/AEAdEXEH 52,200,000& 52,200
Al 52,200
AEAEHINE - JHERIE OIS NHEXE 10,000 8,000 2,000
Al 10,000
301 dEtE A= 10,000 8,000 2,000
Al 10,000
01 A3 B & A 435 2 10,000 8,000 2,000
O42dAHINE - IHE/AE 0SS MNE X
10,000,000 10,000
Al 10,000
A2EAEHIE - JIE/EOS HstsE=2 A& 13,000 12,000 1,000
Al 13,000
301 dEtE A= 13,000 12,000 1,000
Al 13,000
01 M EXEE G2 13,000 12,000 1,000
O42d@AHINE - IHE/AEOS HStsE=2 XN
13,000,000& 13,000
Al 13,000
AotsS A= XA 16,800 15,079 1,721
= 9,660
Al 7,140
301 et A= 16,800 15,079 1,721
= 9,660
Al 7,140
01 MSIEXEE G2 16,800 15,079 1,721
AAOtES A=Y XA 12,600,000& 12,600
= 8,820
Al 3,780
Oogg=el2 2AXNE= 1,200, 000& 1,200
= 840
Al 360
Ogad=sta 3,000,000& 3,000
Al 3,000
dotgaolses4 XN 2,400 2,400 0




2N

A=
M Ols, 34E Bs 4
Sl OIS EX By (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
Al 2,400
301 et A= 2,400 2,400 0
Al 2,400
01 Al B & A 462 2,400 2,400 0
odotdsotssdr4= N 2,400,000& 2,400
Al 2,400
AL AOIS 2 X2 X3 10,124 10,124 0
= 7,087
Al 3,037
301 et A= 10,124 10,124 0
2 7.087
Al 3,037
01 Al B & X 262 10,124 10,124 0
OBOOIS YUY YSBES X2
10,124,000 10,124
= 7,087
Al 3,037
I JIEREOIsS Aelxlg XN 1,000 1,000 0
= 700
Al 300
301 et A= 1,000 1,000 0
= 700
Al 300
01 Al B & A 46 2 1,000 1,000 0
O IIEE=E delxg A
1,000,000 1,000
= 700
Al 300
yyzelz X 12,655 68,726 A56,071
=2 8,859
Al 3,796
307 giztol A 12,655 68,726 AbB6,071
= 8,859
Al 3,796
11T AISIEXAIEEX 12,655 68,726 AbB6,071
OgxzaA2 XN 12,655,000& 12,655
= 8,859
Al 3,796
o - gExE Ols=24A XNE 267,017 246,695 20,322
Al 200,263
- 66,754
301 LetE &3 267,017 246,695 20,322
Al 200,263
3 66,754
01 M| EXEE 2562 267,017 246,695 20,322
OEY . gst= otsz34a A 267,017,000 267,017




= _ — d =
HH - B (3H) - KA - BYS 0l &t o il Bl RE2
Al 200,263
T 66,754
2 -5 Ots=24KA 57,863 45,515 12,348
Al 57,863
301 gtE L= 57,863 45,515 12,348
Al 57,863
01 Ml2ZHE 6= 57,863 45,515 12,348
OE- g - 325Y ots=S4 X¥ 57,863,000& 57,863
Al 57,863
OtsZE XA XA 18,261 24,115 25,854
=2 12,783
Al 5,478
301 et a = 18,261 24,115 N5,854
= 12,783
Al 5,478
01 M3IBZE 05z 18,261 24,115 A5,854
OOtsZLEAHAXH 18,261,000& 18,261
= 12,783
Al 5,478
ts2E XJAAX 2202 2E X 36,606 26,869 9,737
Al 36,606
307 21201 A 36,606 26,869 9,737
Al 36,606
11T M3 SXAISEEX 36,606 26,869 9,737
OOtsZLEXNAH A 2202 2EXE
36,606,000 36,606
Al 36,606
AotsdH 29 N& 386,490 364,162 22,328
= 173,385
Al 207,705
- 5,400
101 @14l 72,570 72,570 0
= 36,285
Al 36,285
04 JI12ZtHZ22HEE = 72,570 72,570 0
OXNSGOotsHE Ots=X A XI& 72,570
oXNOtSHEH OtS=EX A XI&
71,070,000 71,070
= 35,535
Al 35,535
o XIGASI=S=XA ESE 0 1,500, 000& 1,500
= 750
Al 750
307 21201 A 313,920 291,592 22,328
= 137,100
Al 171,420
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L BI(EA) - NRAY - By il 2
- 5,400
10 ALSISXAIEEE 22X 214,056 207,200 6,856
OO SHE Jl22dyl X &
214,056,000& 214,056
= 107,028
Al 107,028
11T MISXASEX 99,864 84,392 15,472
OXSotsHH Eatd 28X 67,944
°HEE 16,800,000& 16,800
= 8,400
Al 8,400
ocSx+=EXY 21,744,000 21,744
= 10,872
Al 10,872
cERRY 21,600,000& 21,600
= 10,800
Al 10,800
cOltESHY 7,800,000 7,800
Al 7,800
OXSOotsSHEH SAA X4 &I
16,800, 000& 16,800
Al 16,800
OXYotsdH IPIVERY 2SN
5,700,000& 5,700
Al 5,700
O2ectelsrs =2l 2,000,000& 2,000
Al 2,000
Odtet] 226,000 *40H & 904
Al 904
O AHHI 100,000 *4H 2 400
Al 400
OXSotsdH HAASX A 179,000 44 2 716
Al 716
OXGotsdEH BIEAISI S XA HRHA
50,000 x9H » 128 5,400
S8t 25 56,970 50, 155 6,815
= 18,551
Al 37,219
T 1,200
307 glztol & 56,970 50, 155 6,815
= 18,551
Al 37,219
T 1,200
10 A SXAEHE2SEHIEX 46,378 44,782 1,596
Ol 2gXN& 46,378,000 46,378
= 18,551
Al 27,827
11T M SRAISEEX 10,592 5,373 5,219




BE .G (3) - MM - BES il
O0EE0ts AL AL 3,992,000& 3,992
Al 3,992
Odss ML =XY 4,400,000 4,400
Al 4,400
OO&s et el 1,000, 000& 1,000
Al 1,000
OOEE QUAMI=SXAMN ML
50,000 »2H » 122 1,200
SAEEAY 300,000 300,000
= 300,000
101 124 dl 86,000 86,000
= 86,000
4 JI2ZtHZ22XEES 86,000 86,000
OCYABEL#OI(S25Y4Y S Z8)
86,000,000& 86,000
= 86,000
201 L2l 204,000 204,000
= 204,000
01 At 22l 195,000 195,000
OEdH 5K . B2 0#82Y 177,900, 000& 177,900
= 177,900
OLEEAEBREHH 238 S 14,580,000 14,580
= 14,580
OEEAEBEYSRFA S I 2,520,000& 2,520
= 2,520
02 =24l 9,000 9,000
OLEAEEHH 223232 S 9,000,000& 9,000
= 9,000
202 O4dl 10,000 10,000
= 10,000
01 = LH 4 1l 10,000 10,000
OEEAEEAY =W 10,000, 000& 10,000
= 10,000
4 254 6,868 7,010
= 1,300
Al 1,300
- 4,268
HaE HCEHE 3,968 3,910
201 et 3,968 3,910
01 At 221l 3,968 3,910
O&FAHE 8k 2= 530
cEE=2E 600& 50000 x 15 300
od =g 80,000 = 10H 80
SEGP 5,000& 300K 150

- 22 -




2N
X ZH -
L= B

el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFAYUE &3 6,800& x60H 408
Od49 ¢ =oiatt 2,000& «x500H 1,000
OFAERAS & 70,000 x9H 13 630
OBt DEAUMRAE S BHaag
70,000& x10E »23] 1,400
FAaERoEE ZAIE X 2,900 3,100 A 200
= 1,300
Al 1,300
T 300
301 et A= 300 300 0
MIIEEd=3 300 300 0
OFAadRoiad duREds 50,000& x6A 300
307 21201 A 2,600 2,800 A 200
= 1,300
Al 1,300
11T AR S XA E =X 2,600 2,800 2200
OFAURHSIZAE 2EXA
2,600,000 14 & X 2,600
= 1,300
Al 1,300
a4 ZaEs XA 332,470 319,190 13,280
= 105,970
J| 700
Al 101,755
- 124,045
FA4E 239 & 29 K& 106,000 105,000 1,000
307 21201 A 106,000 105,000 1,000
05 RIZt2IE = 106,000 105,000 1,000
OFAEUIsd 24l 106,000, 000& 106,000
d4E 2s9 8 x4 4,500 2,500 2,000
401 AIEHI L 2 CHEI 4,500 2,500 2,000
01 A& Bl 4,500 2,500 2,000
OFAEEsE AE 22 4,500,000& 4,500
HAESWSO02t4 0l ArS 150,780 145,500 5,280
= 75,390
Al 75,390
307 glz2tol & 150,780 145,500 5,280
= 75,390
Al 75,390
11T MISXASEEX 150,780 145,500 5,280
OFAHLUSOIHOIOIMNYG 28 K&
150,780, 000& 150,780
= 75,390
Al 75,390
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:FSIEn
s, a4 B35 24
a4 2ags N )
= _ — d =
BB - S (31) - MRAY - BES e
HAEXNEA B XX & 20,040 19,440 600
= 10,020
Al 10,020
307 gl2tol & 20,040 19,440 600
= 10,020
Al 10,020
11T AIS S RAEE = 20,040 19,440 600
OFALEXI T A BIXI XI& 20,040,000& 20,040
= 10,020
Al 10,020
FAUEAE Z20Y 29 3,000 3,000 0
= 1,500
Al 1,500
307 glz2+0l & 3,000 3,000 0
= 1,500
Al 1,500
11T MISRASEX 3,000 3,000 0
OFAUEANE Z27 3,000,000& 3,000
= 1,500
Al 1,500
FaEEHAE 292AJ3 29 2,000 2,000 0
= 1,000
Al 1,000
307 21201 A 2,000 2,000 0
= 1,000
Al 1,000
11T AL S XA E = 2,000 2,000 0
OBAHSHAIL
2,000,000& 2,000
= 1,000
Al 1,000
Fa2E HSE0tY 29 29,750 29,750 0
= 11,900
Al 8,925
- 8,925
201 Let24d] 1,000 1,000 0
Al 1,000
01 At 2teltl 1,000 1,000 0
oosgitg =& s0tel 8&F &A=
g 70,0003 »3H 210
Al 210
Oos=2=s M& 790,000& 790
Al 790
307 gl2tol & 28,750 28,750 0
= 11,900
Al 7,925
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A OIS
Ps

FM: Ots, 44 Bs5 24
ool AW 2HEE XY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- 8,925
11T MISXASEX 28,750 28,750 0
Ooo=sgitg =2tH 224 X&
28,750,000& 28,750
= 11,900
Al 7,925
T 8,925
dA4E =02l gsHl A& 15,400 11,000 4,400
= 6,160
Al 4,620
T 4,620
307 g1+l & 15,400 11,000 4,400
= 6,160
Al 4,620
T 4,620
11T MISXASEX 15,400 11,000 4,400
O&FadS0tel gsHl XA 15,400, 000& 15,400
= 6,160
Al 4,620
- 4,620
dad SEXNFAEY 1,000 1,000 0
J| 700
Al 300
301 et A Z 1,000 1,000 0
J| 700
Al 300
01 AR 2Z A5 3 1,000 1,000 0
OFAEEEXEAY 1,000, 000& 1,000
J| 700
Al 300
ZoHe SIS 2,530,509 2,421,379 109, 130
= 1,458,659
Al 1,046,285
- 25,565
oo =XsH 2,530,509 2,421,379 109, 130
= 1,458,659
Al 1,046,285
- 25,565
oo A A 560 1,560 1,000
201 Let249] 560 1,560 A 1,000
01 At 22/l 560 1,560 A 1,000
OFMARSHERN 7 800& x700H 560
FopeIXIggo 22843 & X3 25,300 25,300 0
Al 20,000
- 5,300
307 glz2tol & 25,300 25,300 0
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2N
X ZH -
L= B

el

P IlE=n}
ool sXNsA

i =S

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 20,000
T 5,300
10 M SXNANEEHE2IHE=S 25,300 25,300 0
OQFMeIXggel 22 HAH X
25,300,000& 25,300
Al 20,000
T 5,300
PSR R = 190,000 139,000 51,000
= 133,000
Al 57,000
301 L2 A= 190,000 139,000 51,000
= 133,000
Al 57,000
01 A3l EE E 563 190,000 139,000 51,000
OX=¢ 190,000, 000& 190,000
= 133,000
Al 57,000
O~ (IHAR) 110,000 100,000 10,000
= 77,000
Al 33,000
301 L2 AF 110,000 100,000 10,000
= 77,000
Al 33,000
01 MEIBE X253 110,000 100,000 10,000
QXML (X&) 110,000, 000& 110,000
= 77,000
Al 33,000
Zofe MEs¢ 55,000 55,000 0
Al 55,000
301 L2 A3 55,000 55,000 0
Al 55,000
01 A3l EE E 56l = 55,000 55,000 0
OZofel Mes< 55,000,000& 55,000
Al 55,000
ZOHQ Xt &dl X& 500 1,000 A 500
= 400
Al 100
301 L2 A= 500 1,000 A 500
= 400
Al 100
01 M3IBZE 06z 500 1,000 A 500
O&oel X4 W=l 500,000& 500
= 400
Al 100
Zopelr ozHl XA 70,000 70,000 0
= 56,000
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2N

P IlE=n}

Hu: ool 2N
Sl FOHY =SXBA (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 14,000
301 et A= 70,000 70,000 0
= 56,000
Al 14,000
01 Al B & A 462 70,000 70,000 0
OO o =4l 70,000,000 70,000
= 56,000
Al 14,000
0ol SEXEHY| 1,300 1,840 A B40
= 650
Al 650
301 et A= 1,300 1,840 A B40
= 650
Al 650
01 Al BE& X 262 1,300 1,840 A B40
OXFMCl SES&XCHH| 1,300,000 1,300
2 650
Al 650
HOHQIEXRD| R W 2,875 2,875 0
= 2,300
- 575
301 LBt A= 2,875 2,875 0
= 2,300
- 575
01 AISIE & A %52 2,875 2,875 0
OO e BXI13 2,875,000 2,875
2 2,300
- 575
ol F2UABSAIE 29 X 69,600 62,774 6,826
Al 69,600
307 2iztol A 69,600 62,774 6,826
Al 69,600
10 MM SAANEEHESIGHEX 69,600 62,774 6,826
OZOHR F2AESAIAE o1AHH|
2,400,000 x2%H x12& 57,600
Al 57,600
OO F2AESAIE 29|
1,000,000 x12& 12,000
Al 12,000
O ATHEANE 29 NS 164,266 163,487 779
Al 164,266
307 2iz2tol & 164,266 163,487 779
Al 164,266
10 MM SAANEEHESIGHEX 164,266 163,487 779
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SH: OEISD
HE: Zoje =SXNEA

Sl FOHY =SXBA CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXOHQl HNATHEAIL 14|
3,400,000 <3« 12& 122,400
Al 122,400
OFOMO MNATHEAIE 2FHI 19,366,000 19,366
Al 19,366
OXOHQ HNATHE AL SAHI|
309 x3,000& 250 22,500
Al 22,500
ZOHESKH ALY 602,130 602,130 0
= 420,000
Al 180,000
T 2,130
201 Let24E] 2,130 2,130 0
01 At 22l 2,130 2,130 0
Ox=sS A d =¥ 70,0003 x2& 103 1,400
OO0l EA =& 70,0003 *3H *33] 630
Oofsd s 2238 F¥ 100,000& 100
307 21201 A 600,000 600,000 0
= 420,000
Al 180,000
05 BIZHRIE 3 600,000 600,000 0
OSSN J AL 600,000,000& 600,000
= 420,000
Al 180,000
STSHMHULEBSEXXR 55,000 32,832 22,168
Al 55,000
307 glz2tol & 55,000 32,832 22,168
Al 55,000
05 RIZHRI &3 55,000 32,832 22,168
OO Es2x AHIFEIXS ALY
40,636,000 40,636
Al 40,636
OZZHME=C ESEX ABIFIXIAAZ
14,364,000& 14,364
Al 14,364
SSER J=HMHAS 800,000 840,000 A 40,000
= 560,000
Al 240,000
301 gt d= 800,000 840,000 A 40,000
= 560,000
Al 240,000
01 MI2EZE+06l= 800,000 840,000 A 40,000
O=S3HMY JII=FMHAS 800,000,000& 800,000
= 560,000
Al 240,000
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2N
X ZH -
L= B

el

P IlE=n}
ool sXNsA

i =S

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ZOHeI L Xl At 270,098 248,098 22,000
= 135,049
Al 135,049
301 gt d= 270,098 248,098 22,000
= 135,049
Al 135,049
01 Ml2ZHE 6= 270,098 248,098 22,000
OFHel et L Rtel 215,162,000& 215,162
2 107,581
Al 107,581
OHMA=KLRtel 54,936,000 54,936
= 27,468
Al 27,468
HOotsIIEXN & 67,200 53,203 13,997
= 47,040
Al 20,160
307 21201 A 67,200 53,203 13,997
2 47,040
Al 20,160
05 BIZERIE 3 67,200 53,203 13,997
OoMaxz 66,000
oYU THEMHI A 66,000,000 66,000
= 46,200
Al 19,800
oclgg 1,200
cAHHEERH 1,200,000& 1,200
= 840
Al 360
ZOHRIES BXAY K& 17,000 17,000 0
307 21201 A 17,000 17,000 0
11T MISRASEX 17,000 0 17,000
O&oel =X XI& 12,000, 000& 12,000
OO4el #AF XIR (W Eojel IS0l S)
5,000,000& 5,000
ATl SAHISX A 4,000 1,000 3,000
= 2,800
Al 1,200
301 LA Z 4,000 1,000 3,000
= 2,800
Al 1,200
01 Ml28E 6= 4,000 1,000 3,000
OWLZHR S4EIE XIJ ALY 4,000,000 4,000
= 2,800
Al 1,200
SLROfO HEBAN X ALY 1,800 1,400 400
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SH: OEISD
HE: Zoje =SXNEA

el Foje 2XEA (el:de)
SA - BB B () - MM - BES Ol &t o San HmEET
= 1,440
Al 360
307 glz2tol & 1,800 1,400 400
= 1,440
Al 360
05 RIZHRIEt 3 1,800 1,400 400
OZZHM sH=A MHIA XJ
1,200,000& 1,200
= 960
Al 240
OLLRfel MEHIHE XS 600,000& 600
= 480
Al 120
LI 22 Aelag N3 ALY 3,000 2,880 120
= 2,100
Al 900
307 21201 A 3,000 2,880 120
= 2,100
Al 900
05 RIZt2IEt = 3,000 2,880 120
Ogge 22 delae A& 3,000,000 3,000
= 2,100
Al 900
e S=2EeMdl A 20,880 0 20,880
= 20,880
307 glz2tol & 20,880 0 20,880
= 20,880
11T M SRAISE EX 20,880 0 20,880
OFe S=S2LEeMtlA 20,880,000& 20,880
= 20,880
HH2LZH(HEIIED) 66,267 66,267 0
JlE &3l 66,267 66,267 0
A2 3l 66,267 66,267 0
201 £B-2dH| 9,027 9,027 0
01 At 22l 9,027 9,027 0
ORM2Y JlE2+8H| 279,000& x17H 4,743
OJlegdef+=8 S&dl 7,000& 34«17 «12& 4,284
202 ¢4 tl 53,040 53,040 0
01 = LHA YI 53,040 53,040 0
OJlege=8d 0l 260,000& *17H «x12& 53,040
203 YR =& 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
ORMII=2dg 350,000& 128 4,200
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